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0308030 1.1 (a30803mUbgde)
I-II Lgdqbheoe 2020-2021 Egemo

(3oLgdgLh®remo godm ool 603dnda)
Question 1

ooLEmge gobdothgds: 306935t 30l dotromoce 8m(3obol Botdmoggbl ----- .
Select one:

o Wegoih sl S s

b. Ubgramob dmdeombob 3gbogans

C. bbgremob dogdathgemdols oBbsBogss Lagtpzgle cosemab BgdabBagth Sendgbido

d. Lbgremols gaceaorogocmgiol 3oBboBagths o GyoliBog BesBgo

Question 2

493doG0h0o 07 d30060:
w0300l bbgnemb, 3oborob oo 303306)863@ Lo 300006@060(1)0) Lobhgdob coo o6 mab
sboomgemgem bgembobyml gemmdmmomdade, gbmegds sogemob Lolggds™.
Select one:
True
False

Question 3

agnboboagm 66)3630000 dmdromdols Qémb 68600@ob Soboljooa)SBSQ)o Bo&ooo
boqm@ggbo (5: VU, 4r) 3300[)36) onoQSSBb:

U | Choose.. ~
aT‘ Choose... L'
S | Cnhoose.. ~
Question4

33060 bbgn@ob 66)3630000 dmndEromdols @600'.& Bo&omo boﬁdoéob 308060’)3@860
8060[)08@36)350 5

Select one:

a. 3o63bgbd bgemol Bgboon
b. 85633960 3ol Bgboo
C. 356533960 bgemal Bgloon

Question 5

B gBotrBg 00653360 8endEromdolisl 36630L 3géoceo () gbescogds:

Select one:


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=s,v,a_\tau
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=v
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=a_\tau
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=s
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T
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a. 6o dgbob 3gbodsdol b

b. e0 Lsyamo 6Bols 3gbisdadols 3morbgl
C. g6hmo bémamo 3éBob 3gbsdedols coeels
d. 9600 Lo 3ol 3gbodsdals gyobgl

Question 6

dobocms doheyémdol 36063030l 0r0boboc, BMBgemos Lbm&o gobdotigds:

Select one:

a. Ubgycons LoliygBol Bobo (ymemos 3oem3gmem Ubgamons obigdols 3530l
b. Ubgrcmons LolbitygBob ol ¢eocmos Bobigdols 3530l

C. bgyamons bobihgBol 8sbs Bgtos 3oem3gnem Ubgemons Bobigdals $588g

d. Ubgremos boliygBals Bsbs 65 30mg300 (30em 397 bgyemons 8sbigdol $88

Question 7

3080360 Looyg, Gm3gmo; Bo63moggbl Lbgyemol obgézonemo oo
36030030700 30lgdgdel Bemdol  o6al:

Select one:

a. boRgotog

b. 3sbo

C. doemo

d. Bmbo

Question 8

oolommge gobdothgde:

8(‘038@0 ooosqmb ljoljd)gao, 6)0’)88@08 3mdt4>om2>lj 66)03030@ QO
0)-)6066)0@ 0686)803@0 ljobd)gaob 80806)0) 0(4)0b -0 .

Select one:

a. obgézoncmo

b. s6s0bgé30nemo
C. 03mmotgdnmmo
d. ndéogo

Question 9

33d0503360 8(‘03@86860 86)0)60060@ 808@0606)8(‘0686 00)3@0[)
938@0 0686803@ bob(l)gaoao Sb %(*)6)83@06)060 BG(*)BOQ)OO

Select one:

a. boyhmbol g3otomdocmmdol 3606(3030L LobgemBmeogdoo



o) Rol Re) Re.

a1 O = A M

b. 88d06030b 36)068030[) bob{]@&’o@gbom
Co 80@0@80[} 0306)@00600)0060[} 88d0603né)0 36)068030[} bobSQGMstom
d. 006360060[} 0306)@00600)0060[} 36)06[3030[} bOb"JQ)ngSBO(D

Question 10
Qoobénq:gm 306306)@860:

doemo 960l 0333embob (33emocmgds ----- .
Select one:

8. ool 306335700 Fgeangede

b. 3563391 B56docm’y

C. Log6hpgol 3963390 o6gd0

d. 3063383@ 0668630@30

Question 11
ooLmge gobdothgds: ga3mEdo0sl gBmEgds G300, Y doemol dmgdgrgdol
d96y39¢oL d93coga Lbgyemo swowggbl mogol ----- (8mbodbgen 3 3obybo).

Select one or more:

a. 3063060090 Liobgl
b. 3o6ge60gcm Bendol
C. 306g560gem Beobal
d. 3063560090 ogr&dal
e. 3o6gobogem Bobols

Question 12
33330(4)0(500 o0y 83@‘)60:
,,38063 boﬂdoéob 333mb383030, bobnﬁob doQ)o boﬁdoéob 36)003006303@00 ",
Select one:
True

False

Question 13
Qoobén@sm 606306@)880: ngobaoaéo mbo My o M2 3obiob bbgn@ob 806)33300

Oébabmbb 80686)00@360 6\)6)88(’), bOQOB OOD3[) 0386[} 8080@3@@60[) do@{]bob
dmgdgcogde. 98 ohgosmmyd g3o6gdmb gbmeogds ----- .

Select one:
a. gemgdhembhahozgée ggemo

b. gemgdheneme ggemo
C. 30360036)0 3900


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m_1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m_2
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d. 3sgapegeyare ggae

Question 14

300306)383 bbgU@ob ooo3obnogo@o 306@60[} oﬁdoéabob 8603363@0080
Qoam 30@363@00 :

Select one:

a. 306)@60[’ 686)00@0@06 8m3°6)0b 80@0306’08@8 806&0@80

b. 30)3060[) Bobo?)g

s Qaqwaogob 3ob033

d. 306)@60@0 bban@ﬂb 80[.)088

Question 15
60033@00 boad@o:;émb 360‘)33@0 (S-I} 3(430083@000 boaémoaméobm bob(l)gaoao?

Select one:

Q

. coobo
. 3.69

O

0

. 86)80

o

. 603@0050
e 30’)3@0
3othe
Question 16
33060Mm0o oM Jooé0: ,,L08d0d0l docmol dMdomds oM 0 adnmo 6 ol Lb ob
J 0] J B@ @00 9] QuoMm30Q9oYY N
dmdomdols o@ogdd)méoogg“.
Select one:
True
False

Question 17
60853000 3603363@m335b afmboboagm bo¢33086)o Qobobgwababo:

10~ 3gn®0 Answer 1/ Sose- M
107" 89060 Answer 2| Sose-
107 80 Answer 31 Sose-
10% 3gn®0  Answer 41 Sose-
107" 80 Answer 51 Cose-
107" 80 Answer 6 o5

Lef Lef Lef Lef Lef Lel


http://testing.gtu.ge/filter/tex/displaytex.php?texexp={(SI)}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-1}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-12}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^3
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-6}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-3}

olRelRolRe.

0O 0 T

a0 A M

107" 8g¢60 Answer 71 Ooose- =]
Question 18
66)03030 moSoBaéoBdoégBU@o dndGomdols boﬁdoéa T - Qaédob 80[)63(4)03
3dmobobgdo gobhmemgdem (Vo 960l boByobo LoRdotrg, T- ém ):
Select one:
a. Vg = Upz + a‘.‘i‘:t
9
b. Ur = Ggl”
c. Vg = Vpg + t'z
d. Uz = Usy

Question 19
383b06033m 863@6063@0 dmdomdols @oaaboboomgbg@ 03030 336 boqm@agbb

Oéogd@méoob 8003383@ 536@0@30 30806003@3?)3?)01

LoBgoérg Answer 1| omose.- -]
ERERCE T G Answer 2| Choose... j
B docmyéo oBgogdo  Answer 3 OO ~]
063963000 Bdotgdo Answer 4| Choose... j
Question 20

606[)03@36300 33060 bbgn@ob 663630000 dmdomdols Qémb Boom boﬁdoégbo ©o
3300536 boﬁdoégb dm6r0l oo™ 3000907emgde (R o600l 56)3506)0[} 60@03[)0) (3006036800

3 30[)350) ;

Select one or more:
a. V = wrsin o
L V=o:7

oV =[]
d. V= Ruw

e. V = wsina
f. I’F = LLJ/R
Question 21

BOBUBO):

Select one or more:

a. o F =0, 3306 V = const
b.mn.ﬁ=[_],3o306 a=10
c.mnfizﬂ,aoaos a#0
doog 70 3536 @=0


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-9}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=x
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=v_o
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=t
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=v_x=v_{ox}+a_xt
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=v_{x}=a_xt^2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=v_x=v_{ox}+t^2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=v_x=v_{ox}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=R
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=V=\omega r\sin{\alpha}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{V}=\begin{bmatrix}\vec{\omega}\cdot\vec{r}\end{bmatrix}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=V=\begin{bmatrix}\omega{r}\end{bmatrix}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=V=R\omega
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=V=\omega \sin{\alpha}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=V=\omega/R
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{F}=0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{V}=const
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{F}=0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{a}=0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{F}=0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{a}\ne0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{F}\ne0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{a}=0
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Question 22
6)0 bobgqﬁmq)gbomoo BGCV)BOQJO 333@380 03(’06)83@860 (C O&)Ob bOGOmQ)Ob bOF)dOé)S)

Feg E—ng-.!;]:y;zf:z?t‘;: ez
-4 -5
Select one:

b. EODGMEOL’ aoé)qwdasob CBC"J&)S:]Q)SBO

C. dmdGBomdol 306330@03360 aosd)mq:ababo

d. 80@0@80[’ aoé)qwdasob CBC"J&)S:]Q)SBO

Question 23

ool ge gobdoehgds (dmbodbger 2 3olybo):
363030 ggemdo dgolyaoemo bbggamo goosmaommgde ggemoel -----
Select one or more:

a. 30’)686800@0[} 38380685(')[) 80806)0’)3@8600’)

b. Qoboqm 300@36300@0@06 aoqzoqmbo 336

C. 30’)086800@0[’ 8086)@0[’ 80806)@3@8600’)

d. 8oq>o@o 3m®3680o@oq>06 @obo@obo 336

Question 24
bobnsob C'OQ)O[J bOQO@S 6\)8(’000)3@82)0 CBO')&)&:]Q)OU) (N 06)0[) 60’)6)80@360 66030[)
doemo):
Select one:
i
a. F= Jf'?
b, £ =
F=°L

C 1M

d.. F=umN

Question 25
3008333@ 0309(4)33@38[) 3@3[}0603300 Qobob:]@gbgbo:

Jﬁ;: = D2muwsino Answer 1| Choose... j
JF;_- == mwzr Answer 2| Choose... j
-]

—f R = =
ma = F' — FF.: _ Fr.-Answer 3| Choose...
Question 26

503(50050[) 33(’063 3060060 0600636)803@ bobd)8303o obg 5005363601 ma' = F — Fk

1SN boqm@ao Fk

Select one:


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=x'=\frac{x-vt}{\sqrt{1-\frac{v^2}{c^2}}},
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=y'=y,z'=z,t'=\frac{t-\frac{v}{c^2}x}{\sqrt{1-\frac{v^2}{c^2}}}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=N
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F=\frac{\mu}{N}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F={\mu}N
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F=\frac{\mu}{m}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F={\mu}mN
http://testing.gtu.ge/filter/tex/displaytex.php?texexp={\vec{F}_k}=2mv{\omega}sin{\alpha}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F_c=m{{\omega}^2}r
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m\vec{a}'=\vec{F}-\vec{F_k}-\vec{F_c}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m\vec{a'}=\vec{F}-\vec{F_k}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{F_k}

T 0D O YD

TN

a. 8080coyemmdol dogmo
b. 6g300md0l doeme

C. 0bgé30ol doemo

d. 3m&omemobol doemo

Question 27
F' doemols 8036) ds 60@00@80@36083 33[)63@363@0 33300060 803000003@860
0300633@0001

Select one:
a. A= F -dv

b, A= 7
e dA = (F-d3J)
d. A= F¢

Question 28
Qég 30@@80300680632)‘3@0 3093060l Bm(l)SGBoUo/oo 3686800 803mobab850 %méan@om
(k 560l Lobolg) :

Select one:

2 W=5%

p. W =2
o W=2

0. W="5%
Question 29

6o 6mL Imobemdgdl 100 3 Logérdol 3306080l gogemol 100 3 Logérdals
dohoérgdgemo, oy dobo Lohdotrgo 18 33/Len? (ggemdo BsBgérgor dbmemmeo
éo(3bgo, dog. 1,23):

Answer:|

Question 30
36)000 Gé%ob 80[}63603 86)000 30306)003@36000 dmdEGomdl méo oéoqaég 30000

ooy, BMIgenmd dolgdo hmemod. gbmo dbonemsl Lobdoégo 413/63,
dgmérg dbrommol Lokdoégo 17 3/63. cooxobgoel d9dcgg dyéroyemgdo
03md&039096 Logémm Lobdoéom, Gm3emal bowowyg hmemos (3g9emdo
Bobgérgen dbmemmeo Go(sbgo, dog. 1,23):


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{F}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{ds}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A={F}\cdot{dv}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A=\frac{F}{s}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dA=(\vec{F}\cdot d\vec{s})
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{A}={F}\vec{v}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=k
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=W=\frac{x^2}{2k}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=W=\frac{2x^2}{k}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=W=\frac{2k}{x^2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=W=\frac{kx^2}{2}

Answer:l

Question 31
9 33 85bob Lbgrrmo emdeomdls 26 3/63 boBgstoo, gablisBageer dobo

0333@bob 33@0@860, 0y bban@ob boﬁdoéa 805@0 45 3/69 (33@30
BoBgérgo dbmemmeo Gozbge, 3o3. 1,23):

Answer:l

Question 32

21 33 3oLob Lbgyemo 0dymazgds cmogyhdo, Gmdgemo3 Imdeomals

39600 3omyboe g3g300 6 3/632 shdoérgdom. mogalymgome go6obol
oBdotgdos 10 3/63% Lbgyemol Bmbo odbgds (ggemde Bobgérgor dbmemmceo
éo(3bgo, 3og. 1,23):

Answer:l

Question 33

6ol néolb gemdogemob Loddmogery, ooy 0go dmEedmbihommyé gB3o3q

54 33/bo> LoBdotr00> 93mdEoggdl 115d). dobol otoégdgeml.(g =103/632,
bobnbol 3mga303096the 0.005). (39em380 Bobgérgor Bbmemmme Gogbge, 3og:
1234)

Answer:l



